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QUESTION 1 (20 marks) ANSWERS ONLY

{n) Detenmine the value of x in each of the following;
(i) x4+35=-2
(i) 7:12=x:60

{b) Name the two features of a circle indieated in the diagram below

(c) For the following pair of congruent triangles state which congruence test is
salisfied.

3em

1200

(d) Whal {raction of'a circle is represented by the following sector?

3203

e
© For the formuta C:g(l'"—-ﬂ) find Cif F=68.

() (i) Conver 3.7 L./min to mL/min

(ii} A train is travelling at 120 kimvh. How far will it travel in 45 minutes?

(a) Alice is paid $620 per week. Find her;
(B fornightly pay

(ii) annual salary

(o= WY
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QUESTION 1(cont)  ANSWERS ONLY

(h) Calculate the circumference of the eircle below, correct to 1 decimal place.

213 em

0] (i} Divide 15 in the ratio 3:2.

()  Express $§71.25 for 94 hours as a rate in simplest form.

(j} Determine the coordinates of the point of inlerséetion for each puir of lines.

(i) x=4 (ix=4 (i) y=2x+2
yp=-2 Jy—x=-1 y—x=-1
y
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(k) Use ihe diagram betow to delermine the prebability that (he pointer lands on:
{) the number 4
(i the number 6 or 7

(iii) anumber = 4
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QUESTION 2 (20 marks)

O - B ' J -y [ »
(1) The tetters of the word L'QUiL_If\l[:E\Ai_ are placed in a bag and one letter is
chranw oul at random, Find the prabability ol drawiag:
(i} the lelier A
(i} acansonanl

(iti)  oncolthe letters A, Q or L.

(bY Solve the lollowing equations
(i) Axr5=2]
(i) A0-F) =43

(€} T'he meun of six scores 6. 5, 4, 3. 4 and x. is 5. Find the value o x.

Wy .. . o /
I'he area ol a (rapezium is given by the formula A= ;7((:+b)_ Find the value

ofhilA=36,1=8and e=06.

(e) Conslruct the triangle below using compasses and ruler only, Show all
construction Jines.

4.3 cm

r $em 0

{0 Tind the vatue of the pronumeral in the pais ol similar triangles below.
R it em

<10 em -
x/j/
ol 33cm
AN '

2dem

(&) (i) Aplane carries 25 lirst-class passengers and 210 economy-class
passengers. What is the ratio of the number ol economy class o

the number of first-class passenpers?

(ii) A fertiliser mix contains 2 parts of potash, 2 parts ol nitrogen and
3 parts of phosphate. How many kilograms of phosphate are there

ina 10.5 kp bag of fertiliser?
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QUESTION 3 (20 marks)

(1) (i) For the following set of data [ind the median.

5 3 7 6 4 5 8 6 4 2 3

Ll

(i) Find the perimeter of the figure below, correct to 1 decimal place

]

’ PH cm

(b) A 20-sided die has faces labelled 2, 4, 6, 8, ....38, 40, 1 the dic is rolled, what
is the probability of ablaining;
(i)  anevennumber?
(i)  anumber divisible by 127

{iii) anumber less than 207

If the seale on ainap is 1; 100 000, how far would it be in real life

(©) ()

if the distance between two points on the map is [3.3 cm? .

{ii)  Ina sale all ilems are reduced by 25%. At Crazy Colin's Store,
shop assistants are entitied to an additional 10% discount olT the
sale price. [['a shop assistant paid $675 for a mobile phone what

was the regular price of the item?

(d) Melanie receives 17.5% holiday loading on 4 weeks normal wages. If she

normally works a 42-hour week at a rate of $16.00 per hour, caleulate her:

{i} 4 weeks pay
(ify  holiday loading

(iif)  her total holiday pay

(e) )] Complele the table of values for the equation 3 =3x-+4
x | -l 0 |
J.’
(ii) Sketeh the graph of this line on the number plane.

(iiiy  Docs the point (-3, -2) lic on this line? Justify your answer,

MARIKS
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QUESTION 4 (20 marks) MARKS

(a) Construct an equation and then solve i to find the value of the pronumeral.

{i) 3
Area = 55 cm’ T

10 ecm
(Zx — S)em
(i1
(dm — 15)°
2
(i 4 213
(b) {i) In the diagram below the radius of the inner eiscle is 5 mm and the 2
radius of the outer circle is 11.5 mm. Delermine the arca of the
shaded region between cach pair of coneentric circles, correct to 1
decimal place.
S e \‘\
~ hY
/ P Ay Y
I / .
- 5 mm i
I { . - ) |
(N 4o
kS 7 /
e .
L. a
11.5 mm T
(i) A satellite is orbiting the Earth at a height of /2 km above the
3

Earth's surface. In one complete orbit the satellite travels a
distance of 41 469 km. Find the height of the satellite above the

Earth, to the nearest k.

Satedlite

Earth

()

(d)

MARICS

QUESTION 4 {(cont)

(i) Prove that AFFGH is congruent to AJIEF 4

G

{a - 3}mm

r H
Gmm
I
(ii} Hence, find the value of the pronumeral, giving a reason. 2

Tt

Calculate the volume of the solid, carrect to 1 decimal place

2lom

4.2 em

8]

Using the following information to form an equalion and hence selve it,

stating any pronumerals used.

‘I'he sun of two canseculive integers is 53. What are the inlegers?

-



QUESTION 5 (20 marks) MARKS ‘ QUESTION 5 (cont) MARKS

(d) Sixty-three university students were surveyed and the number ol subjects

{a} Justin can dig a parden in 30 siinutes, white his father James tukes 20 minutes. 2

How long should they take Lo dig a garden if they work together? studied by cach student recorded. The Irequency polygon below illustrales the

results of the survey.

(b) An assembly line worker is paid using either of the foltowing methods:

20
« a [lat rate of 28 cenls per article assembled
. . 161
» a special rate of 23 cents per arficle assembled up (o 1000 then /\\
- :
30 cents for each article assembled therealler 8 2r { \ s
‘ o
N \-
Calculate the income earned using: ’ 4l AN
(i) the Nat rate if 3500 articles are assembled 2 ] ] \
0 1 1 1 1 1 L
(iiy  the special rate if 4200 articles are assemnbled 2 1 N?' b 3 ; 4h. l5 6
umber of subpjecis
(i) Anthony is paid the special rate. If he carned $465.80, how many 9 0 From the Frequency polygon above complete a frequency y)

articles did he assemble? distribution lable on (o your answer sheet with the lollowing

headings:
(c) |Tax rates 2004-05 financial year Number of subjects | Frequency Iz
Taxable income || Tax payable on Taxable income X
$0 — $6,000 [ |
$6,001 - $21,600 17c for each $1 over $6,000 Hence, find:
$21,601 - 558,000 52,652 plus 30c for each $1 over $21,600 ‘ (i ' Mealn
$58,001 — $70,000 $13,572 plus 42c for each $1 over $58,000 Gi)  Mode :
i -
Over $70.000 |ls18,8712 plus 47¢ for each §1 over $70,000 . !
(iv) Range 1
Jessiea earns a salary of 59 600. She has a total income from other sources (e) Danielle is four times as old as Yeronica. In 12 years’ lime Daniclle will only 3
{invesiments and bank interesl) of $4834. Ter tajal tax deductions for the year be twice as ald as Veronica, Form an equation and hence solve it in order to
are $1320. determine Danielle and Veronica's present ages.
Find:
(i Jessica’s tofal income 1
(i} her taxable income 1
(iit)  the tax payable on her taxable income 3

END OF EXAM
p.i.o to the remainder of 05
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